This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 2 - Broxburn Uphall and Winchburgh

6,967

4

1,394

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Diane CALDER	Scottish National Party (SNP)	1,898
Janet CAMPBELL	Scottish National Party (SNP)	583
Angela DORAN	Scottish Labour Party	1,324
June DOUGLAS	Scottish Green Party	256
Chris HORNE	Scottish Conservative and Unionist	1,897
Elaine MALLON	Scottish Trade Unionist and Socialist Coalition	57
Audrey MIDDLETON	Scottish Labour Party	313
Pippa PLEVIN	Scottish National Party (SNP)	422
John Robertson WOODS	Scottish Liberal Democrats	217
	Total	6,967

Candidate Diane CALDER Elected with 1,898 votes, being in excess of the quota of 1,394 Candidate Chris HORNE Elected with 1,897 votes, being in excess of the quota of 1,394

This report contains the transfers results.

Stage 2 - Surplus of Diane CALDER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Diane CALDER	0	0.00000	0.00000
Transfer to Janet CAMPBELL	1,073	0.26554	284.92442
Transfer to Angela DORAN	61	0.26554	16.19794
Transfer to June DOUGLAS	67	0.26554	17.79118
Transfer to Chris HORNE	0	0.00000	0.00000
Transfer to Elaine MALLON	8	0.26554	2.12432
Transfer to Audrey MIDDLETON	18	0.26554	4.77972
Transfer to Pippa PLEVIN	561	0.26554	148.96794
Transfer to John Robertson WOODS	25	0.26554	6.63850
Value of non-transferable ballot papers			22.57598
	Total		504.00000

This report contains the transfers results.

Stage 3 - Surplus of Chris HORNE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Diane CALDER	0	0.00000	0.00000
Transfer to Janet CAMPBELL	47	0.26515	12.46205
Transfer to Angela DORAN	408	0.26515	108.18120
Transfer to June DOUGLAS	86	0.26515	22.80290
Transfer to Chris HORNE	0	0.00000	0.00000
Transfer to Elaine MALLON	50	0.26515	13.25750
Transfer to Audrey MIDDLETON	189	0.26515	50.11335
Transfer to Pippa PLEVIN	21	0.26515	5.56815
Transfer to John Robertson WOODS	478	0.26515	126.74170
Value of non-transferable ballot papers			163.87315
	Total		503.00000

This report contains the transfers results.

Stage 4 - Surplus of Angela DORAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Diane CALDER	0	0.00000	0.00000
Transfer to Janet CAMPBELL	3	0.00995	0.02985
Transfer to Janet CAMPBELL	10	0.00996	0.09960
Transfer to Janet CAMPBELL	28	0.03754	1.05112
Transfer to Angela DORAN	0	0.00000	0.00000
Transfer to June DOUGLAS	13	0.00995	0.12935
Transfer to June DOUGLAS	4	0.00996	0.03984
Transfer to June DOUGLAS	48	0.03754	1.80192
Transfer to Chris HORNE	0	0.00000	0.00000
Transfer to Elaine MALLON	5	0.00995	0.04975
Transfer to Elaine MALLON	3	0.00996	0.02988
Transfer to Elaine MALLON	30	0.03754	1.12620
Transfer to Audrey MIDDLETON	272	0.00995	2.70640
Transfer to Audrey MIDDLETON	21	0.00996	0.20916
Transfer to Audrey MIDDLETON	1,047	0.03754	39.30438
Transfer to Pippa PLEVIN	1	0.00995	0.00995
Transfer to Pippa PLEVIN	9	0.00996	0.08964
Transfer to Pippa PLEVIN	12	0.03754	0.45048
Transfer to John Robertson WOODS	52	0.00995	0.51740
Transfer to John Robertson WOODS	3	0.00996	0.02988
Transfer to John Robertson WOODS	39	0.03754	1.46406
Value of non-transferable ballot papers			5.24028
	Total		54.37914

This report contains the transfers results.

Stage 5 - Exclusion of Elaine MALLON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Diane CALDER	0	0.00000	0.00000
Transfer to Janet CAMPBELL	2	0.03754	0.07508
Transfer to Janet CAMPBELL	2	0.26554	0.53108
Transfer to Janet CAMPBELL	12	1.00000	12.00000
Transfer to Angela DORAN	0	0.00000	0.00000
Transfer to June DOUGLAS	2	0.03754	0.07508
Transfer to June DOUGLAS	7	0.26515	1.85605
Transfer to June DOUGLAS	1	0.26554	0.26554
Transfer to June DOUGLAS	12	1.00000	12.00000
Transfer to Chris HORNE	0	0.00000	0.00000
Transfer to Audrey MIDDLETON	1	0.00995	0.00995
Transfer to Audrey MIDDLETON	1	0.00996	0.00996
Transfer to Audrey MIDDLETON	15	0.03754	0.56310
Transfer to Audrey MIDDLETON	6	0.26515	1.59090
Transfer to Audrey MIDDLETON	11	1.00000	11.00000
Transfer to Pippa PLEVIN	4	0.26554	1.06216
Transfer to Pippa PLEVIN	2	1.00000	2.00000
Transfer to John Robertson WOODS	1	0.03754	0.03754
Transfer to John Robertson WOODS	20	0.26515	5.30300
Transfer to John Robertson WOODS	10	1.00000	10.00000
Value of non-transferable ballot papers			15.20821
	Total		73.58765

This report contains the transfers results.

Stage 6 - Exclusion of June DOUGLAS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Diane CALDER	0	0.00000	0.00000
Transfer to Janet CAMPBELL	1	0.00995	0.00995
Transfer to Janet CAMPBELL	2	0.00996	0.01992
Transfer to Janet CAMPBELL	7	0.03754	0.26278
Transfer to Janet CAMPBELL	7	0.26515	1.85605
Transfer to Janet CAMPBELL	14	0.26554	3.71756
Transfer to Janet CAMPBELL	61	1.00000	61.00000
Transfer to Angela DORAN	0	0.00000	0.00000
Transfer to Chris HORNE	0	0.00000	0.00000
Transfer to Elaine MALLON	0	0.00000	0.00000
Transfer to Audrey MIDDLETON	1	0.00995	0.00995
Transfer to Audrey MIDDLETON	22	0.03754	0.82588
Transfer to Audrey MIDDLETON	8	0.26515	2.12120
Transfer to Audrey MIDDLETON	3	0.26554	0.79662
Transfer to Audrey MIDDLETON	40	1.00000	40.00000
Transfer to Pippa PLEVIN	1	0.00995	0.00995
Transfer to Pippa PLEVIN	1	0.03754	0.03754
Transfer to Pippa PLEVIN	2	0.26515	0.53030
Transfer to Pippa PLEVIN	29	0.26554	7.70066
Transfer to Pippa PLEVIN	38	1.00000	38.00000
Transfer to John Robertson WOODS	3	0.00995	0.02985
Transfer to John Robertson WOODS	6	0.03754	0.22524
Transfer to John Robertson WOODS	37	0.26515	9.81055
Transfer to John Robertson WOODS	5	0.26554	1.32770
Transfer to John Robertson WOODS	75	1.00000	75.00000
Value of non-transferable ballot papers			69.47016
	Total		312.76186

This report contains the transfers results.

Stage 7 - Exclusion of John Robertson WOODS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Diane CALDER	0	0.00000	0.00000
Transfer to Janet CAMPBELL	2	0.00995	0.01990
Transfer to Janet CAMPBELL	12	0.26515	3.18180
Transfer to Janet CAMPBELL	4	0.26554	1.06216
Transfer to Janet CAMPBELL	25	1.00000	25.00000
Transfer to Angela DORAN	0	0.00000	0.00000
Transfer to June DOUGLAS	0	0.00000	0.00000
Transfer to Chris HORNE	0	0.00000	0.00000
Transfer to Elaine MALLON	0	0.00000	0.00000
Transfer to Audrey MIDDLETON	20	0.00995	0.19900
Transfer to Audrey MIDDLETON	23	0.03754	0.86342
Transfer to Audrey MIDDLETON	186	0.26515	49.31790
Transfer to Audrey MIDDLETON	1	0.26554	0.26554
Transfer to Audrey MIDDLETON	110	1.00000	110.00000
Transfer to Pippa PLEVIN	1	0.00995	0.00995
Transfer to Pippa PLEVIN	1	0.03754	0.03754
Transfer to Pippa PLEVIN	12	0.26515	3.18180
Transfer to Pippa PLEVIN	10	0.26554	2.65540
Transfer to Pippa PLEVIN	36	1.00000	36.00000
Value of non-transferable ballot papers			222.33101
	Total		454.12542

This report contains the transfers results.

Stage 8 - Exclusion of Audrey MIDDLETON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Diane CALDER	0	0.00000	0.00000
Transfer to Janet CAMPBELL	15	0.00995	0.14925
Transfer to Janet CAMPBELL	5	0.00996	0.04980
Transfer to Janet CAMPBELL	90	0.03754	3.37860
Transfer to Janet CAMPBELL	23	0.26515	6.09845
Transfer to Janet CAMPBELL	3	0.26554	0.79662
Transfer to Janet CAMPBELL	56	1.00000	56.00000
Transfer to Angela DORAN	0	0.00000	0.00000
Transfer to June DOUGLAS	0	0.00000	0.00000
Transfer to Chris HORNE	0	0.00000	0.00000
Transfer to Elaine MALLON	0	0.00000	0.00000
Transfer to Pippa PLEVIN	9	0.00995	0.08955
Transfer to Pippa PLEVIN	2	0.00996	0.01992
Transfer to Pippa PLEVIN	75	0.03754	2.81550
Transfer to Pippa PLEVIN	49	0.26515	12.99235
Transfer to Pippa PLEVIN	6	0.26554	1.59324
Transfer to Pippa PLEVIN	53	1.00000	53.00000
Transfer to John Robertson WOODS	0	0.00000	0.00000
Value of non-transferable ballot papers			490.70315
	Total		627.68643

This report contains the transfers results.

Stage 9 - Exclusion of Pippa PLEVIN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Diane CALDER	0	0.00000	0.00000
Transfer to Janet CAMPBELL	12	0.00995	0.11940
Transfer to Janet CAMPBELL	4	0.00996	0.03984
Transfer to Janet CAMPBELL	59	0.03754	2.21486
Transfer to Janet CAMPBELL	59	0.26515	15.64385
Transfer to Janet CAMPBELL	536	0.26554	142.32944
Transfer to Janet CAMPBELL	449	1.00000	449.00000
Transfer to Angela DORAN	0	0.00000	0.00000
Transfer to June DOUGLAS	0	0.00000	0.00000
Transfer to Chris HORNE	0	0.00000	0.00000
Transfer to Elaine MALLON	0	0.00000	0.00000
Transfer to Audrey MIDDLETON	0	0.00000	0.00000
Transfer to John Robertson WOODS	0	0.00000	0.00000
Value of non-transferable ballot papers			129.47463
	Total		738.82202